M2 = 22 days Go go!

2 The temperature in some cities 1s shown in the table below.

Riga -3°C
Helsinki —11°C
Toronto —6°C
Moscow —8°C
Stockholm —1°C

(a) List the temperatures in ascending order.

Answer

(b) How much warmer is Moscow than Helsinki’

(¢) What 1s the difference in temperature between Helsinki and Stockholm?

.3 .
(c) Write 5 as a decimal.

(d) What percentage is £9 of

9

Answer

Answer

£167?
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Write down the values of x and y.

Answer x =

Answer y =

diagram not
drawn
accurately



